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SECTION A(READING) (20 marks)
Q1. Read the following passage carefully:

Our house is filled with photos. They cover the walls of my kitchen, dining room
and den. I see our family's entire history, starting with my wedding, continuing
through the births of both sons, buying a home, family gatherings and
vacations. When my sons were little, they loved to pose. They waved, danced,
climbed trees, batted balls, hung upside down from the jungle gym and did
anything for a picture. But when they reached adolescence, picture-taking
changed into something they barely tolerated. Their bodies were growing at
haphazard speeds. Reluctantly they stood with us or with their grandparents at
birthday celebrations and smiled weakly at the camera for as short a time as
possible.

[ am the chronicler of our photographs. I select those to be framed and arrange
the others in albums. The process is addictive, and as the shelves that hold our
albums become fuller and fuller, I wonder what will become of them. Will
anyone look at these photographs in future years? If my sons look at them,
what will they think of us and of themselves? One bright afternoon, I took some
photographs of my father with my husband as they fished in a lake near our
vacation house. As my sons and I sat on the shore and watched them row away,
I picked the camera up and photographed the beautiful lake surrounded by
green trees. The two men I loved gradually grew smaller until all I could see
were my father's red shirt, and the tan and blue caps on their heads.

My father died a week later, and suddenly those photos became priceless to me.
[ wept when I pasted them in our album. I wept again afterwards when I saw
my younger son looking at them. It was a few days before he went away to
college. He had taken all our albums down from the bookshelves in the den and
spread them out on the carpet. It had been a very long time since I had seen
him doing this. Once he stopped posing for pictures, he seemed to lose interest
in looking at them. But now he was on the verge of leaving home. This was his
special time to look ahead and look back. I stood for a moment in the hall by
the den, and then tiptoed away. I didn't take a photo of my son that afternoon,
but I will remember how he looked for as long as I live. Some pictures, I learned,
don't have to be taken with a camera.

1. Fill in the summary using one word only. (1x4= 4)

The author was (a) ____about taking photographs and framing them. But she
always (b) ___ whether her sons would ever look at them. She was full of (c)____
when she pasted the pictures of her father's last days in the album. She learnt
that some pictures always (d) ___in one's mind without a camera.

2. Two examples that show that the author's sons were averse to taking
photographs are: (Ix2=2)
(2) (b)




. Give words that mean the same as (1x4= 4)
. not organized or planned (para 1)

. one who records events in order (para 2)

. very valuable (para 3)

. continued engagement with an activity (para 2)
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. Read the passage given below and write the option that you consider
the most appropriate in your answer sheets. (5)

THE DISGUISE ARTISTS

Aesop prawns start life as colourless, almost transparent infants who drift with
the tide. On reaching maturity, they drift inshore, reach out to grasp the first
passing seaweed and, once established upon it, they proceed to colour
themselves to blend with it. After a week, their colouring is complete and they
are safe from the closest scrutiny. Should disaster strike and their chosen home
be destroyed, they first try to find a new home with the same colour scheme as
the first. If this proves impossible, they philosophically settle for a different
coloured home and restart their own colouring process. A week zips past --- and
they change colour to merge beautifully with their new homes once again. Aesop
prawns also take on the colours of the day. Regularly at nightfall, they change
to a deep transparent blue, reverting to their chosen house-colour as the sea
lightens at dawn.

Interestingly, the "decision" to adopt a particular colour is in no way an act of

will on the part of the prawn. Scattered over its body surface are small pigment
cells, each containing a central bag of colours (a reservoir of primary pigments:
red, yellow and blue) with five branches extending from it. These pigment cells
are influenced by the light that falls directly on them or enters through the
prawn's eyes. Different coloured lights activate the hormones that control the
flow of pigments.

And after dark, red and yellow are withdrawn to make way for the nocturnal
blue 'night suit' of the Aesop prawn. A system that provides the animal, at all
times, with an enviable cloak of invisibility.

1. The unique feature of Aesop prawns is that....................
a. they blend with their surroundings b. they drift with the tide
c. they grasp seaweeds d. they are transparent

2. When Aesop prawns are rendered homeless,................c.ooeei.
a. they change their colour
b. they first look for a home of the same colour
c. they cannot survive
d. they become transparent

3. During the night Aesop prawns
a. change to a deep blue colour b. take on their chosen house-colour
c. become red, yellow and blue d. revert to light colours.

4. Colour change of Aesop prawns is influenced by
a. the will of the prawns
b. the light that falls on their body and eyes
c. the harmones that control the pigments
d. the five branches of its colour bag

5. A word from the passage that means the same as 'night like'
IStieiiiiiieneaenees
a. reverting b. pigment c. nocturnal d. cloak



Q3.Read the given poem carefully: (S)

The Leader

Patient and steady with all he must bear,
Ready to meet every challenge with care,
Easy in manner, yet solid as steel,

Strong in his faith, refreshingly real,

Isn't afraid to propose what is bold,

Doesn't conform to the usual mould,

Eyes that have foresight, for hindsight won't do,
Never backs down when he sees what is true,
Tells it all straight, and means it all too.
Going forward and knowing he's right,

Even when doubted for why he would fight,
Over and over he makes his case clear
Reaching to touch the ones who won't hear.
Growing in strength, he won't be unnerved,
Ever assuring he'll stand by his word.
Wanting the world to join his firm stand,
Bracing for war, but praying for peace,

Using his power so evil will cease:

So much a leader and worthy of trust,

Here stands a man who will do what he must.
-Anonymous

On the basis of your reading of the above poem, answer the following questions
by choosing the correct option from those given below:

1. This poem is about ............ocvvvininnnn.
a. the qualities a leader should possess
b. what leaders used to be like
c. a person who has been a good leader
d. a present day leader

2. 'Doesn't conform to the usual mould' suggests the person being described
a. doesn't look like others b. has qualities that are different
c. doesn't mix up with people d. breaks rules laid down by society

3. The leader would fight war bravely, ............
a. because he wants to prove his valour b. and turn out victorious
c. because he wants to kill his enemy d. but want peace

4. ‘Using his power so evil will cease’.. Here ‘cease’ means....................
a. begin b. become strong
c. come to an end d. rule over everyone

S. A true leader is a man wWho POSSESSES......cccvvvennennn..
a. physical strength and daredevilry = b. courage and conviction
c. religious beliefs and faith d. strength and faith

SECTION B (WRITING) (25marks)

Q4. Ashwani/ Aastha Sharma, in charge of the NSS Club of St. Andrew's
School, Kashipur, is asked to write a notice about a fair being organised by
the club to collect articles &money for people affected by floods in Chennai.
The notice will be put up forstudents on the school notice board. Write the
notice in around 80 words. (4)



Q5. Using these notes complete the paragraph describing the famous
Indian author R. K. Narayan by choosing from the given options. (6)

R. K. Narayan

Birth-October 10, 1906, Chennai

Occupation-novelist, short-story writer

Father-headmaster

Brother-famous cartoonist, R.K. Laxman

Married-Rajam in 1939

Achievement: Felicitated with SahityaAkademi Award and Padma Bhushan.
Notable work(s)-Swami and Friends, Malgudi Days

Died-May 13, 2001 (aged 94)

Q6. Rising violence among youth is a cause for concern. A recent survey listed
the reasons for this trend. Write a letter to the editor of ‘The Youth Express’
highlighting the causes for the growing violence against others and against

self. Use the hints given below: (7)
(growing needs; peer rivalry; teenage problems; pressures)

Q7. Our Planet Earth is in danger as man indiscriminately cuts down forests
causing natural ecosystems to break down. Look at the visual showing a
man explaining what a tree looks like. Write an article on the importance
of trees for man's survival. (8)

SECTION - C (GRAMMAR) (20 marks)
8. Choose the most appropriate option from the ones given below to
complete the following passage. Write the answers in your answer sheet

against the correct blank number. (72 x8=4)
Three years ago, fresh (a) of school, I (b) the intimidating task
of choosinga career (c) college started. My uncle, (d) of the
elders of the family, suggested (e) I do a summer job () a
multinational companyfollowed by a month of social service with an NGO. He
said that (g) that I could (h) which career to choose.
a) (i) from (i) out (iii) in iv) when
b) (i) in (i) was (iii) have (iv) had
c) (i) for (i) after (iii) before (iv) as
d) (i) are (i) was (iii) one (iv) Who
e) (i) when (i) that (iii) which (iv) a
f) (1) in (ii) on (iii) for (iv) at
g) (i) before (ii) then (iii) after (iv) in

) ( (

h) (i) made (ii) decision iv) decide



Q9. The following passage has not been edited. There is one error in each
line. Write theincorrect word and the correction against the correct
blank number in your answersheet. The first one has been done for

you as an example. (8x Y2 = 4)
Incorrect Correct
The passenger were waiting at e.g. passenger passengers
the station when five policemen rushing (a)
into difference compartments of a (b)
train. After sometimes one of them (c)
comes out with two young men (d)
and soon another policeman joined her. (e)
The men which had been arrested ()
was been caught for a theft. (2)
They had stealed two cars (h)

Q10. Here are some notes about the annual function of Golden Jubilee
School and College in the diary of the Cultural Secretary of the
college. Study the given notes and complete the paragraph that
follows by filling up the blanks with the most appropriate option from
those given. (4)

Notes in the diary:

Celebration of annual function of college.
The Mayor of the city-Chief Guest
Principal and staff welcomed him

The Mayor's wife gave away prizes

The Principal hosted dinner

The annual function of Golden Jubilee School and College a).............. with
great pomp and show. The Mayor of the city, b).................. on the occasion.
(o) FEUSTUTRRR by the Principal and the staff. d).................. the wife of the Chief

Guest. A dinner was hosted by the Principal of Golden Jubilee School and
College.

a) (i) was celebrated (ii) is being celebrated
(iii) has been celebrated (iv) had celebrated

b) (i) that was the Chief Guest (ii) Being the Chief Guest
(iii) who was the Chief Guest (iv) who was a Chief Guest

c) (i) was accorded a warm welcome on his arrival
(ii) has been accorded a warm welcome on his arrival
(iii) will be accorded warm welcome on his arrival
(iv) has been accorded a warm welcome on their arrival

d) (i) Prize were given to students (ii) Prize will be given away by
(iii) Prize had been given by (iv) Prizes were given away by

Q11. Read the conversation given below and complete the following
passage by choosing the correct option. (4)

Detective: What were you doing yesterday between 10-10.30 pm?
Bharat : I was walking my dog in the park.

Detective: Did you meet anyone in the park?

Bharat : I saw two men sitting on a bench.

The detective asked Bharat (a) . Bharat replied that (b)
The detective then asked Bharat(c) , to which Bharat replied that
(d)




Q12. Look at the words and phrases below. Rearrange them to form
meaningful sentences as shown. (1x4=4)

eg:- is familiar \ properties \ most \ the neem \ medicinal \ to \ people \ for its
The neem is familiar to most people for its medicinal properties.

a) \ it is \ distinctive curled \ star-shaped \ recognized \ leaves \ by its
\ flowers \ and
b) are pale \ tinge of rust \ the young \ and green \ with a \ leaves
c) New Year’s day \ to ward off \ are eaten \ neemleaves \ the \ on \ sickness
d) cupboards \ are dried \ and cockroaches \ they \ put in \ and \moths
\ to keep out
SECTION D (LITERATURE) (20 marks)

Q13. Read the extracts and answer the following questions: (3x3=9)
1. “I really can’t accept a present like this,” Robert Sandy said. “No, it wouldn’t
be right.”

(a) Who is Robert Sandy speaking to?
(i) The ministers (ii) Harry Gold (iii) The Prince (iv) Betty

(b) Why did he refuse to accept the present?
(i) because he was contented with his income.
(ii) because it was too less a price for his effort.
(iii) because he was scared to accept it.
(iv) because it was of no use to him.

(c) Why was he offered the present?
(i) because he was devoted to his profession
(ii) because he saved the life of the Prince.
(iii) because he performed the surgery.
(iv) because the prince liked him.

2. 1 make a great noise
Of rustling all day
Like rabbit and deer

Running away.

(a) Who is the T here?
(b) What poetic device does the poet use in these lines?
(c) What rhyme scheme is used in the poem?

3. Don’t be silly Joe. You’re too much of a gas-bag to make a decent detective.

(a) Who says this to Joe?
(b) What were they discussing about?
(c) Why is he called as a ‘gas-bag™

Q14. Answer any four of the following: (4x2=8)

1. Describe the miracle that changed Christy Brown’s life on the December day?

2. Why was the letter written by Jim? What was the wonderful thing that had
happened?

3. Write a brief note on Dr. Robert Sandy.

4. Who is the warder in the play, ‘The Unexpected’? How does he escape?

5. What startling truth does the stranger reveal to the narrator in the lesson
‘The diamond maker’™?

Q15. Imagine you are Dr. Robert Sandy’s wife Betty. Your husband has brought
a valuable diamond home. In the form of a diary entry write down your
happiness, anxiety and the stress you experienced because of the diamond.
Or
Imagine you are the diamond maker, who has been forced to leave the city.
Write what bitter experiences forced you to do so. (8)
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SECTION A (4X 1= 4)
1. Express the following number in standard form: 0.00000000000235.

2. Find the valueof xin: 3:2x: 15:40.

3. Two cubes of dimension 4cm are placed one above the other. Find the
volume for the resultant cube.

4. Is m3 always greater than m? for any integer?

SECTION B (6 X2=12)
. Find the Quotient of: 63x2y3 + 35 xy + 7xy2.

. How many vertices are there in a solid shape having 40 faces and 60 edges?
. Evaluate the value of m: ( mention the law) 52m + 1253 = 57

. Draw a sketch of a triangular based pyramid.

©O 0 N O w

. Two numbers are in the ratio 3:4. The sum of their cubes is 728. Find the
numbers.

10. Find the area of a rhombus whose side is 10cm and one diagonal is 16cm.

SECTION C (10X 3= 30)

11. Simplify: a)* 729 + *343 — 27 b) * 2=

125

12. Plot a graph of displacement of a body at different time interval.
Time (in s) 0] 1 2 3 4

Displacement (in m) 2 4 6 9 12

13. A certain amount of water was heated and the temperature at different

intervals of time was observed and shown in the graph. Study the graph
and answer the following questions.

a) What is the temperature of water at 7 minutes?
b) At what time is the temperature 60°c?

c) After how many minutes of heating, does the temperature remain
constant?
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14. Pinky and Seema are on the roadside and wish to reach their house by the
riverside. To go home, they have to cross a field which is in the shape of a

trapezium. Find the area of the field, if the distance between the road and
river

is 125m and the length of the field towards road side is 110m and river
side is

150m. Draw an appropriate diagram to represent the same.

15. A television was purchased for Rs 32000 and Rs 520 was spent on
transportation, then sold at a gain of 12% % .How much did the seller
receive?

16. Factorise: (a) 81x2-36x+ 4 (b) 2y5+ 7ys

. -3 -2
17. By what number should 73 be divided so that the quotient is Z ?

18. Verify Euler’s formula for a) hexagonal based pyramid. b) cuboid.

19. A play ground is in the form of two semicircles at its ends.
Find the area and the perimeter of the play ground.

20. Write the co- ordinates of the vertices in the given graph.
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SECTION D (11X4=
44)
21. Find the unknown:
MP Discount Discount % SP VAT% VAT
Rs 750 X 20 y _— -
Rs 14,500 -- -- P 16 q

22. The lateral surface of the hollow cylinder is 4224cm?. It is cut along its
height
and formed a rectangular sheet of width 33cm. Find the perimeter of the
rectangular sheet. Also find the volume of the cylinder.

23. Factorise the expression using suitable identity: 25 a2 - 4b2 + 28 bc — 49 c2

24. Find the probability of :
(a) picking a vowel from a,e,i,o,u
(b) getting a tail when a coin is tossed.




(c) getting less that 5 when a die is rolled.
(d) picking a letter p’ from the word “HELLO”

25. Find the smallest number by which 30375 has to be multiplied to make it a

perfect cube and also find the cube root of the number obtained.

-2 -3 -2 5 -7 -4

- P 1 _ 1 = 1 > &
26. Simplify: a) S > =y b) . X p
27. Draw a histogram for the following set of grouped data.
CI 30-40 40-50 | S0-60 60-70 70-80 80-90 90-100
No of 10 30 15 25 13 S 2
People

28. Find the area of a pentagon CHINA, if CN = 12cm,
CJ = 10cm, CB = 8cm, CG = 7cm, HG = 7cm,
IJ = 9cm and AB = 5cm.

29. Divide (x2-10x-11) by (x-11). Is (x-11) a factor of (x2-10x-11) ?

30. Ravi borrowed a sum of Rs 1,00,000 for 2 years at a rate of 5% p.a
compounded

annually from Raju to pay for Medical expenditure of his son . When Ravi
went

to repay the amount, Raju took only the amount based on the Simple
Interest.

Calculate the amount which Ravi had to pay initially. What value will you
infer

by the act of Raju.

31. A survey of choice of food items by the students was conducted and the
data is

given below. Draw a pie chart to represent the same.

Items Pizza Pasteries Cookies Cake Biscuits
No of Students | 50 80 16 14 20
E X e
: o 1 72 173 172 5 =7 g ~4

26. Simplify: a) 3 - 3 T b) s X E

27. Draw a histogram for the following set of grouped data.
CI 30-40 40-50 50-60 60-70 70-80 80-90 90-100
No of 10 30 15 25 13 5 2
People

28. Find the area of a pentagon CHINA, if CN = 12cm,
CJ = 10cm, CB = 8cm, CG = 7cm, HG = 7cm,
IJ = 9cm and AB = Scm.

29. Divide (x2-10x-11) by (x-11). Is (x-11) a factor of (x2-10x-11)?



30. Ravi borrowed a sum of Rs 1,00,000 for 2 years at a rate of 5% p.a
compounded

annually from Raju to pay for Medical expenditure of his son . When Ravi
went

to repay the amount, Raju took only the amount based on the Simple
Interest.

Calculate the amount which Ravi had to pay initially. What value will you
infer

by the act of Raju.

31. A survey of choice of food items by the students was conducted and the
data is
given below. Draw a pie chart to represent the same.

Items

Pizza

Pasteries

Cookies

Cake

Biscuits

No of Students

50

80

16

14

20
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1. What is female infancticide? (1)
2. What was the actual political motive behind partition of Bengal? (1)
3. List the aim of Mahila Samakya Programme ? (1)
4. What is Golden Quadrilateral ? (1)
5. Define Manufacturing (1)

6. Mention any two Geographical factors that affect the population
distribution.(1)

7. The Indian soldiers bore large scale discontent against the British. Why?
Discuss. (3)

8. Explain how Ram Mohan Roy fought against the evil practice of Sati?
(3)

9. (a) Identify the picture. (1)

(b) Discuss the style of construction. Why was it built? (2)
10. Give an account on Kalighat painting. (3)

11. Within a decade of her independence, India had to form “A State

Reorganisation Commission” Why? (3)
12. How are the interests of the minorities safeguarded? (3)
13. Untouchability has been apparent in the society in various forms. Explain
(3)

14. Explain the following steps taken to eliminate poverty PMRY, REGP, SGSY
(3)

15. When and by whom was the Satya Shodak Samaj founded?
What does Article 17 declare? (3)

16. Reservation of seats for the SCs, STs and OBCs has been done to ensure
their

well being. Was that the only way to do so? What value is displayed on the
part of the government in reserving seats for them? (3)



17. Manual Scavenging is still practised in different parts of India. Despite
negligent attitude of the people towards these scavengers, they continue

with it. What are the main reasons behind it? (3)
18. Mention any three locational advantages for the development of the cotton
textile industry in Ahmedabad (3)
19.(a) Which is the most common hazard in India (1)
(b) What is the instrument used to measure the disaster? (1)
(c) Name any 2 areas which are frequently prone. (1)

20. What is the National Growth Rate of Population & Explain the two types
Migration (1+2)
21. What are the causes of flood? (3)

22. What facilities have been provided by the government of Bengaluru to

ensure the development of the IT industries. (3)
23. (a)What do you mean by Swadeshi and Boycott Movement? (1)
(b)Discuss the aims of the Movement. (2)
(c)Why did the Indians boycott the Simon Commission and how? (2)
24. Analyse five weaknesses of the British Educational Policy. (5)

25. Differentiate between Schedule Caste and Schedule Tribe. What are the

constitutional provisions implemented to safeguard their interests?
(2+3=5)

26. What are the objectives of Planning Commission? List the steps taken by
the government to improve the agricultural production? (2+3=5)

27. What will be your reaction under the following circumstances
(a) You are alone at home talking to your friend on the telephone, when you

suddenly get a strong smell of cooking gas coming from your kitchen,
What will be your first reaction (3)

(b) While going to play you see someone badly hurt, lying on the road
unconscious, what will you do? (2)

28. (a)Differentiate between the Working population and Non-working

population. (3)
(b) Discuss the importance of Human Resource (2)
29. On the given map. (3)

Identify

(a) The centre of non — co —operation movement.
(b) The infamous Jallianwalla Bagh Massacre.
Locate
1. The congress session of 1929.
30. On a political map of India: (3)
Identify
(a) Cotton textile industry
Locate
1. Region having population density between 0-100
2. Mohali techonology part.
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I Multiple Choice Questions -

L. The arrow in the given diagram represents a ray of light moving from the air into the

surface of water at Q. After enterig the water, the ray -
)

Water

a) will be completely reflected without change in speed.
h) will be refracted with increased speed.
¢) will be refracted with reduced speed.
d) will be refracted without change in speed.
). The arrow in the diagram represents a beam of light striking a glass slab. On entering

the elass, the beam -———---------

i"""lI Sad :
l
! T Y I
| B
| A
a) bends towards A ¢) Totally reflected back
b) bends towards B d) Continues without bending

3 Identify the Constellation — Scorpius
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¢) Increase in the
ease in the number of aquatic animals

[l ;\ -- i . . .
) Flourishing of aquatic plants
<

Ildentify A in the given llmnc

a) luminous zone ¢) Dark zone

b) N | L Zone
) Non luminous zone d) Blue zone

11. Which one of the following is not responsible for shortage of food

a) Algae ¢) Fungi

d) Insects

b) Bacteria

12. The animal cell does not have

b) Cell Membrane

a) Nucleus

d) Centrioles

¢) Chloroplast

13. After fertilization Zygote gets embedded in the lining of the uterus, this process 1S

called as
b)Implantation

a) Copulation

d) Insemination

¢) Ovulation

14. In diabetic patient which gland is affected

b) Pancreas
d) Pitutary

which hormone will be secreted 1n excess

a) Adernal

¢) Thyroid

15. At the onset of Metamorphosis in {rog,

a) Insulin b) Adrenalin
_ ¢) Oestrogen d) Thyroxin
1 [I 1. State the « Laws of reflection (1)
7. Define carbonization. (1)
3. Why are endocrine slands called ductless glandsz _ (1)
4. Identify the phenomenon shown in the diagram and Explain. (2)
5. Why do' we consider fossil fuels as non renewable sources of energy ? (2)
6. How does fertilization occur in bony fish 7 (2)
3)

7. Give reasons

a. Meteors glow red hot as they enter the e
ot be hot.

arth’s atmosphere.

bh. Planets which are closest to sun need n

c. Sun will not last forever.




p . : e 5)
a. Identify the above device and explain "L (<)

b.. Why should people living in coastal areas shift to nearby raised ground after an

earthquake. (1)
9. Draw a neat labeled diagram of electroscope . (3)
10. Study the figure carefully and answer the following (3)
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a. On a new moon day which half of the moon is facing the earth.

T :
b. Name the phase of the moon after a week later

tull moon day. a
¢. Why do we always see the same side of the moon?.
1. (3)
a. ldentify the above figure and mention the chemical substances used in it.
b. How does it work to extinguish the fire?
¢. Fire caused by liquids cannot be controlled by spraying water. Explain. '

12. The boiling point of 3 substances x, y and z are 2800(3,600(3. and 100°C respectively.
If the mixture is fractionately distilled, In which order would you get the substance?

Give Reasons S ae(3)

13. Whenever we use personal care products and household cleaning products , be it
detergent, bleach, stain remover, hair dye, shampoo, toothpaste, ete. almost all of it
goes down the drain and pollutes water. The sewage system has to have an ;ldvnnce(l.
technology to remove these chemicals from the water. ' (3)

a. How would it affect the environment if the local sewage system does not have the

technology ?
b. What alternates would you suggest that we use in place of there synthetic
materials?
14.a.What is Greenhouse effect? (3)

b. Explain the causes and the effects of the greenhouse effect.

v . . F el




15.a.Are the cells of

an elephant la.
Phant la, 2er than the cells of a rat?

I) \\l]‘ ‘ (. )
' Ilt h‘[) ; . 11 ‘ \ . ‘\
l(} I*1\l]l. . ‘

(3)

D. Write : ~ ‘
(¢ about the AT10ous means that spread communicable diseases.

I8. Explain the menstrual cycle with the help of a labeled diagram. (3)
LIT Following questions carries 5 marks each.
19. A woman is detected with hypermetropia in the left eye and her right eye is normal.
a. Name the type of lens that helps her to correct the defect.
b. Draw the labeled diagram to explaimn the same.
¢. A child s suffering from night hlimlncss.‘Suggcsl a diet which will help to cure the
defect.
Z0.a.Draw a ray diagram showing the following with proper labeling.
“Incident Ray * Angle of Incidence * Reflected Ray
“ Angle of Reflection * Normal.
D.A man while driving sees an accident in his mirror. He stops vehicles and tries to help
the accident victim.
I.  What s the type of image he observed in the mirror?
i.  Which value can be observed in his behavior?
21. a. Describe the process of electroplating with the help of an activity and labeled
diagram.
b. Distilled water is not a conductor of electricity. Give reason.

i

a. Carefully and gently turn a lighted candle upside down, so as to allow the melted
wax to run upon the wick. The melted wax will put out the flame. Why ?

b. Differentiate between rapid and spontaneous combustion.

¢. Define ignition temperature
3. Draw a neat diagram of a plant cell. Label the following parts and mention their
function.

% Cell Wall “Chloroplast *Mitochondria *Vacuole
24. a. Can the technique of ultrasound of foetus be misused? How?

b. Differentiate the following

i.  Ovaries and Testes
ii.  Oviparous and Viviparous Animals.

iii. Embryo and Foetus.

X T

. —_ ; - ’ - - Fuy — B S W v g e |
Sl A e le, N RCNNEN . N B




E.IF‘:P 'F-'-.-‘ "'hl -" ~ T, _'I-h
f'~‘5£ffp{

\ YN A SINDHI HIGH SCHOOL
SUMMATIVE ASSESSMENT - II (2015-16)
SUBJECT:- SOCIAL SCIENCE

CLASS:- VIII MARKS::; I?Ig L
DATE:- { §. 03 .L0|b ?gl%y-' SIDES:- 02
iy Wha; 1s female infancticide? (1)
2. What was the actual political motive behind partition of Bengal? (1)
3. List the aim of Mahila Samakya Programme ? (1)
4. What 1s Golden Quadrilateral ? (1)
(1)

O. Define Manufacturing,

6. Mention any two Geographical factors that affect the population distribution.(1)

7. The Indian soldiers bore large scale discontent against the British. Why?

. Discuss. (3)

8. Explain how Ram Mohan Roy fought against the evil practice of Sati? (3)

9. (a) Identify the picture. (1)

N %
v . , : ‘!‘w
(b) Discuss the style of construction. Why was it built? (2)
, 10. Give an account on Kalighat painting. (3)
11. Within a decade of her independence, India had to form “A State

Reorganisation Commission”™ Why? (3)
(3)

12. How are the interests of the minorities safeguarded?

13. Untouchability has been apparent in the society in various forms. Explain (3)

14. Explain the following steps taken to eliminate poverty PMRY, REGP, SGSY (3)

15. When and by whom was the Satya Shodak Samaj founded?

What does Article 17 declare? (3)

16. Reservation of seats for the SCs, STs and OBCs has been done to ensure their
well being. Was that the only way to do so? What value is displayed on the
part of the government in reserving seats for them? (3)

17. Manual Scavenging is still practised in different parts of India. Despite
negligent attitude of the people towards these scavengers, they continue with

it. What are the main reasons behind it? (3)

18. Mention any three locational advantages for the development of the cotton
textile industry in Ahmedabad (3)
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